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2 BN w7 ¥IJ7SS /N5 1/ 5 1:16. 97 34.76 9% ( 0.61)
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1 FEE Sk KTV & NG 7/ 1 1:05. 57 30.87  12#% ( 0.70)
2 ot B3 A4 b=k N 5/ 3 1:07. 85 31.83  10#% ( 0.68)
3 KL A r~ R N6 4/ 5 1:08. 16 32.07  10#% ( 0.73)
4 Ayl = A4 b~k il 7/ 6 1:08.59 32.04 9%k ( 0.75)
5 JEHFEIR HRy7SC /)6 5/ 4 1:09. 01 31.75  9fk ( 0.63)
6 7EH St A4 h~2HPE /N 3/ 6 1:19. 83 36.33 6k ( 0.64)
T NS EiE ISVZJEE== /NG 1/ 3 1:20. 31 37.07 68k ( 0.77)
8 BIA VP ~LHE flw/EBH /NG 2/ 5 1:20.92 36. 56 58% ( 0.84)
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No. 15 Z-F 100m /N2 754 A4 L L—R R K&mE 100273

L 13~14:% >

Ef. K 4 Fr & 2E KK = 50m
1 BH HEH H7YesSs  HF2 0 10/ 3 1:00. 93 28.50 12%% ( 0.75)

£ Joc (CS) - Joc
2 B T VISZ 3B ie 3 9/ 2 1:01.%? 28.98 12%% ( 0.66)
- KW

3 AH BE ¥HFSSEME  H3 10/ 5 1:03.03 29.10  10%% ( 0.70)
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5 W i )5S S 1 6/ 5 1:06. 47 30.90  9#% ( 0.65)
6 5 ILE ¥ SS7E B th2 7/ 5 1:07.85 31.67  8#% ( 0.68)
TET OKRE INZ JEPEe 12 7/ 4 1:07. 87 31.05  8fk ( 0.61)
8 il =EF A b=k Hi2 4/ 3 1:08.58 32.10  8#% ( 0.65)
9 fgtE  Hvb HThASS il 8/ 5 1:08.76 32.13 8% ( 0.64)
10 [LUARZEHEAR HEH A th2 4/ 1 1:09. 39 32.54  8#% ( 0.62)
11 /NP FE HHZRA aSh| 4/ 4 1:11. 45 33.06  7#k ( 0.59)
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